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For each question from 1 to 28, four options are given. One of them is the correct answer,

Make your choice (1, 2, 3or 4

Sheet.

). Shade the correct avat {1, 2, 3 or 4) on the Optical Answer

1. The table shows how some living things are classified into two groups, A and B.

Group A Group B
rose plant bread mould
bird's nest fern bracket fungus

Which one of the follov.%ing correctly describes groups A and B?

Group A Group B’
(1} flowering plants non-flowering plants
2) do not have chiorophyll have chlorophyll
(3} reproduce from seeds reproduce from spores
(4) able to make own food not able to make own food




The diagram of cell X was shown to three students, Anna, Ben and Carlene.

call membrane

vacuocle

nucleus

cell wall

Cell X

After looking at the diagram of the cell, they made the following statements:

Anna _ 1tis an animal cell'as it has no chloroplasts.

Ben : Thé cytoplasm is a substance that contains many cell parts.

Carlene : Cell X is likely to be an animal cell as it does not have a rectangular
shape. ' o ‘

Whose statement(s) is / are correct?

(1} Annaonly

(2) Benonly

{3} Ben and Carlens only
{4) Anna and Carlerie only

BP-148



3.
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The diagram shows part of a flower.

process A

l process B

The ovary develops into part X.

The ovule develops into part Y.

Which of the following could processes A and B and parts X and Y be?

Process Part
A B X Y
(1) fertilization germination fruit seed
(2) fertilization seed dispersal seed fruit
{3} poliination seed dispersal seed fruit
(4) pollination fertilization fruit seed

Which of the following statements about the plant transport system are correct?

4 The food-carrying fubes can only transport food in the upwards direction.

K The water-carrying tubes can only transport water and minerals in the upwards
direction.

L The food-carrying tubes can transport food in either upwards or downwards
directions,

M The water-carrying tubes can transport water and minerals in either upwards or
downwards directions.

{1) JandK
(2) KandiL
(3) JandM
(4) LandM




The bar graph shows tha amount of undigested food as it enters different organs (parts
V, W, X, Y and 2) in the digestive system dfter a meal.

Amount of

undigested

food {units)
L
\) w X Y Z

Parts of the Human Digestive System

Based on the information givan,_which'of the follmviné statement(s) is / are correct?

A Digestion starts in part X.
B Digested food is absorbed in part Z.
C Digestion does not take place in part W.

{1) Bonly

(2) Conly

(3) BandConly
(4) Aand Conly
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Sally conducted an expsriment on photosynthests. She placed 3 similar pots of plants
in a dark room and watered them dally, After 3 days, the pots of plants were placed
in set-ups A, B and C, comalning substances X, Y and Z. All the set-ups wers placed
undar the sun,

set-up B set-up C

substance X substance Y substance Z
After 6 hours, Sally removed a leaf from each of the set-ups and conducted a starch
teston them.

The observations were recorded in the table below.

Leaf from Results of starch test -
 setup A iodine turned dark blue
set-up B iodine turned dark blue
set-up C iodine remained yellowish brown

Which of the following is most likely to be substances X, Y and 27

substance X substance Y substance Z
produces carbon absorbs carbon
(1) water dioxide dioxide
{2} | absorbs water vapour absorbs oxygen pmdlé?:;;:rbm
bsorbs carbon ;
{3) @ s‘:ﬁ oxizae water absorbs oxygen
(45 P mdté?:)z;eamon absorbs water vapour water
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1.

Jack set up the experiment as shown balow,

- water with o
substance A

d!oxide gwen out by the pfant is absorbed by substance A 1mmeduaiely He switches’
on thi famp and measures the amount of oxygen in the water.

What will Jack observe after one day?

A: The water plant will die.

B: Number of bubbles in the water will not change.

G: Number of bubbles In the water will increase.
D:- Number of bubbles in the water will decrease.

{1
2
3
(4)

B only
C only

Donly

A and D only

Whlch of the foﬂow:ng human body systems work together when a student is eating

her snack?
A Skeletal
B: D:gestlve
c Muscular
D Reproductive
(1) AandBonly
(2) A, BandConly
(3) B, CandD only
(4) ABCandD
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9. "The diagram below represants the flow of substances among the various organ
systems in the human hody.

Which one of the following options correctly represents the arrows in the diagram?

Digestlive
System

B
Respiratory > Circulatory | Other parts
System D a— System - of body

A B c
(1) digested foodf blood rich in oxygen blood Zf:x:g ecarbon
(2) | digestedfood | Plood _g?:xggecarbon blood rich in oxygen
(3) | undigested food | biood rich in oxygen | D100 rich In carbon
(4) | undigested food blood‘ Li:::x:;lecarbon blood rich in oxygen
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10, A group of scientists discoversd thet certaln parts of & river were poliuted with loxic

chemicals a8 shown In the diagram below.

Key :
wese  flow of water In river

clean water

_ ;’?Z////; toxic chemicals found in the water

A

Which one of the following options correctly shows which factory / faclories was /
- were responsible for polluting the river? ' o

“FactoryX |  FatoryY |  FactoryZ
(15 | Notpossibletotell | - Yes T Not possible to tell
@ | No B Yes . Yes
(3) No |l Ne | 'Not possible o tel
4 | Yes ' No No '
8
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12.

Mr. Razid conducted ah éxperiment uslng the flowers of a partieular plant in his
garden. He wanted lo find oul If a flowar would stilt develop into & frult when only a
cortain pait of the flower was rémoved.

. Flower Part removed
A__ | thestigma
B _ all the anthers
c _ ~ ali the petals

He dusted pollen grains of the same type of flowers over flowers A, B and C. Then
he observed them over two weeks.

Which of the flower(s} is / are more likely to have developed into fruits at the end of
the two weeks?

(1) Conly

{2) AandBonly
(3) BandC ohiy
(4) A.BandC

The foliowih'g stateménts'dé'scribe what happens during sexual rebroducﬁnn in

plants.

A: Owule develops into a s‘eéd.; 7

"B: The anther releases pollen grains.

C: Pollen grains are transferred fo the stigma.
D: Male reproductive cells fuse with the female reproductive cells.
E: Polien tube grows towards the ovary.

Which of the following shows the correct sequence of the process?

(1) B>E—+>C—»D—>A
(2) B»C—+ E»D»A
3y C» D> A+ B»E
4y C»B->»D»AC
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13, The diagram below shows the humen rsprndué:_ijve_ sysl’éria.:é"' L

Which of the following is correct?

where the female where the male: where the
- reproductive cell reproductive cell | fertilised eggis

is produced is produced - developed
| & RS A F B
@] B F A
| B3 | c E B
) A D C:

10
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4. Wel Ming set up three test tubes as shown in the diagram balow. At the start of the
experiment, solution X in each test tube Is réd. In the presence of carbon dioxide,

the indicator changes from red to yallow,

solution X o

pebble <Xy gresn
mesh " leaf

A

sofulion X

Q"""‘irzs«acts

What will be the colour of the indicator in each test tube after a few hours?

A B c
(M red . red- red
(2) red red yellow
(3) red yellow red
(4) red vellow yellow

11
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15.  Jack wanted to study how the volume of a substance, X; affects jts mass. He took
& cerlain amount of substance X and measured lis mass and volure.

h\ﬂ;hteh of tg% following should JacK do to ensure the rstilts of hig experiment will

A Repeat the experiment using different substances,

B Keep the temperaturs of substance X the same during the experiment.

€  Measure the mass and volume using different amounts of substance X.

(1) Gonly

(2) AandBonly
{3) BandConly
{4) A,BandC

16. The diagram below shows a white ¢cloud forming above the kettle spoutwhen water
it the kettle boils. '

white cloud

kettle

Which of the following activities show a similar process as the formation of the
white cloud above the spout?

A Filling an empty cup with ice-water.

B:  Drying our wet hair with a hair dryer.

C: Putting a hot bun into a styrofoam box.

D:  Breathing out through our mouth onto spectacle lenses.

(1) AsndDonly
(20 BandConly
3) ACandD

() AB CandD

12



17.

Harry set up the expariment as shown below.

&

wat cloth
pot with finy holes

small pot with tiny holes

wet sand

He placed the set~up ina dry place. He recorded the temperature of the air inside
the small pot, HIS results are shown below, :

Temperature {°C)

Time (mmutes)
0 ' 30
10 28
20 27

The drop in the temperature of the air inside the small pot was mainly due to

(1)  waterevaporating from the wet sand
(2)  heat heing conducted to the thermometer
(3)  water vapour condensing on the wet sand

13

'(4)  wet sand acting as & poor conductor of heat
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18. Sunita wanted 1o boil some potatoes. She noticed that when she put the potatoes
' into the boiling water, the boiling slopped almost immediately for a shorl while as
stiown below,

aif bubbles —__

waler

hY

pot of

oL ¢ (o potatoes
biling

heat solrce

Why did the water stop boiling for a short while when the potatoes are putinto it?

(1)  The potatoes lost heat to the water.
{2) The boiling water lost heat to the potatoes.
(3)  The potatoes lost its coldness to the water.
(4)  The boiling water had increased its volume.
19. The ring and the ball shown below were made of the same material.

. fing  ball

At room temperature, tﬁe ball was L_m__abie to pass through the ring. After heating
the ring for a while, the ball passed through the ring.

Which of the following explains this observation?

The ring ' The ball
(1) expanded contracted
2) expanded | remained the same size
(3) | remained the same size contracted
(3) | remained the same size remained the same size

14
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20, When a ball was placed betwaen a torch and a white scraen, a shadow was seen

on the scrasn as shown below.
white screen
H

LS L

yGHOW plﬁstic.._ -
sheet .

----------

A yellow plaslic sheet was then placed in front of the torch, The yellow plastic
sheet allowed most light fo pass through.

What would be observed on the same screen if the yellow plastic sheet was
placed in front of the torch?

(1 ' (2)
L. white —.. white
— black — yellow

(3) (4)
yellow

15
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21, Ahmad setup an experiment as shown below. When he connected the metal clips to the edges
of the container made of material ¥, the bulb lit up.

metal clips

container
made of
material Y

Which of the following statements can be concluded from Akmad’s observation?

{1) Material Y is an insulator of electricity. .

(2) Material Y is a conductor of electricity. o
{3) Liquid X Is an insulator of electricity.

{4) Liguid X is a conductor of electicity.

16



22. Study the circuit below. Bulbs A, B and C are ldantical, At first, bulb A Is unlit while
bulbs B and C are lit with a brightness of 10 units.

bulion metal lavar bulb A

Ik
X

bulb B

metal spring

If the button is pressed and held down, what would happen to bulbs A and B?

bulb A bulb B
¢ as bright as 10 units unlit
{2) brighter than 10 units unlit
(31 . as bright as 10 units brighter than 10 units
4} brighter than 10 units brighter than 10 units
23. Study the properties of four materials Q, R, Sand T given in the table below.
Properties of materials
Material : . :
Transparent | Good Conductor of Heat Magnetic
Q No | | No No
R No Yes Yes
S No Yes No
T Yes No No

What could Materizls Q, R, $ and T be?

Material Q@ | Material R | Material S | Material T
(1) Iron Steel Copper Wood
(2) Wood Iron Gold Rubber
(3} Plastic Copper Iron Catton
4) Cation Steel Copper Glass

17
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24. . The diagram shows a drawing of a roller coaster ride.

role
coaster

At which one of tha four points (A, B, C or D) along the ride would the roﬂer coasrer

have the most kinetic anergy?
m A
(2} B
(3 C
(4 D.
25. ‘Which drie of the following is not an effect of a force?

(1)  Adented pingpong ball.

{2) An angsana fruit fallmg from the free.
(3) - Akite being blown by the wind.

(4) - Abarof chocolate meiting under the Sun,

18
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26. The diagram below shows a toy car. Johar! wourd it up and released it.

Which of the graphs below lllustrates the kinetic energy {KE) and potential energy
(PE} in the toy car from the time Johaii started to wind the toy car until the toy car

cams to a stop?

M
Energy
A

- am um

PE

> Time

> - Time

(3)
Energy

A

(sec)

(4)
Energy

{sec)

19

> Time
{sec)
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27. The flow charl below shows the process of finding out whether an objedt is
magnetis, non-magnetic or a magnst.

START

. A
Is tha object
mads of metal?

(ij),ﬁepeﬂﬂd _

What kind of | Atiracted
interaction is
observed?

Put ohe end of
the object near
to the N pole of
a magnet

; No
What kind of |, .
quelled interaction is | interaction
‘ observed?
: — Put the same
.... o : Atiracted - - end of the object
e near to the S
pole of the

magnet

Which of the following sentences is correct?

(1) Aand C both are non-metallic objects.

(2) B is a stronger magnet than E,

(3) B and E are magnets while D is a magnetic object.

(4) Als a non-magnetic object while B and C are magnetic objects.

20
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Lionel used the set-up shown below to find the tima taken for a wooden block to
slide down two different surfaces, A and B,

wooden block

glass

sandpaper

He measured the time taken for the wooden block to slide down each of the fwo
surfaces and recorded the results in a graph.

(1) ()

Distance travelled by
block (cm)
i
=]

~ Distance travelled by
block {cm)

A e A
Time taken (s) Time taken (s)
{(3) (4)
F 9
Foy -
8 3 _
2 g S5
g~ ~—
= g S
o U3 --——
8o 3o :
c o c a s B
o E &
3 2| A
Q ra)
Time taken (s) Time taken (s)

End of Booklet A

21
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For 'que'stions 29 to 40, write your answers in the space provided. The number of marks available

is shown in brackets [ ] at the end of each question or part question.

29 The diagram shows how blood travels in the human body,

i Brain —
B Organ R E
A F
b 4
. Organ S !

Small infestine

{2) Arrows A, B, C, D, E and F represent the movement of blood. R and 8

represent two organs. Name organs Rand 8. i1
Organ R: 7 Qrgan S:
{b)  The blood at B contains a larger amotint of substance X than at E.
What Is substance X7 Expiain your answer, : [2]
(c)  State the two main functions of the small intestine. [
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{a) State a useful substance that enters the human body through pat X, [1]

{b) Describe how carbon dioxide is rémoved from a person’s body. 2]
{c) Why does our breathing rate iricrease when we exercise? 4

BP-170
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k3! Lisa observed twd lowers, G and R and concludad that flowers O and R are poliinated
by wind.

Flowar Q Flower R
{a)  Based on the diagrams above, suggest how Lisa came o her conclusion. (2]

Flower Q:

Flower R:

The diagram below shows part of flower P,

Flower P
{b)  Howis pert D useful in the reproduction of the plant? {1}




e s
;g& ERRER R St -

| afiali sees

%ﬁé

{2) Both fruits are dispersed by animals.
" How ara.the-seeds of. MX dtspesseﬁ dlfferenﬂy vomparad to the seeds of

futy? 2]

{b) Why do plants disperse their seeds or fruits?: fl

K

BP-172

[ahd



33 Fatimah conducted an experiment lo find out how the amount of water affects the
growth of d plant. The diagram below shows each of her set-up in a clear glass tank.

fight

[/ //@t kfﬁ@t

{b)

{c)

lass fank
. 9 \ _ glass tank
sofl with
//%ﬁﬁ soil with soil with
<J  water ] 30 miof 1710 mi of
water water

State a hypothesis on how the amount of water affects the growth of a plant.

(11
In her experiment, Fatimah kept the type of plants the same.
How did this make her experiment a fair test? [1]
Fatimah stated that set-up B was a control for her experiment.
State the purpose of the controf set-up in this experiment. 2
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Question 33 continued

(@) Suggest what Fatimah should fressife to make a conclusion for her
expetiment. [1]

{e)  What should Fatimah do to improve the accuracy of her experiment? {1




34 Afidah set up the éxperiment Iri a dark room as shown below, -

thermometer

water

0

beakar ——i

oil

fube
bub:ble

water plant

[J———1torch switched on

I 0 10 20 30 40 50 5O 7D 80 snwol_' ruler

Afidah changed variable X and counted the number of bubbles in the tube. She kept
the other variables constant. Her results are shown below.

Number of bubbles

per minute

{a)  Whatis variable X?

L3

do ot b2 fof F p 8 2

N Variable X

(1]

{b})  Afidah repeated the experiment by adding some worms in the tube, The
number of bubbles formed per minute increased.

Give a reason for her observation, 1]
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Gueston 34 contintied

(o)  Explain why switching off the torch would eause the worms to die faster than
witen the torch was switched on. e}

35, isaac mixed 150 ml of red coloured water with another 150 mi of blue coloured water. 10g
of salt was then dissolved in the mixture. The mixture was then heated as shown below,
After five minutes, liquid X is formed on the Inner side of the funnel.

beaker

10g of salt dissolved in a mixture
of blue and red coloured water

--------------

stove

{3)  Whatis the colour of liquid X7 Explain your answer. (i

{b) Isaac \q}anteﬁ to collect more water droplets In a shorter time. His friend suggested
that he changed the material of the funnel.

Given that the funns! Is made of plastic, what material should Isaac used instead
forthe funne!? Explain your answer. (1
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36.  Anthony used two bailteries, four bulbis, a switch and some wirgs to set up a circuit as

shown below,

i1
He noticed that all the four bulbs were very dim when the circuit was closed.
(a) He decided to make some changes to the circuit to make the bulbs brighter,

Put a tick {v') beside each statement that describes what he should do. '

(i) | He should add more batteries to the circuit.

(i} | He should add another switch to the circuit.
{i) | He should remove two bulbs from the circuit.

{b)  After a while, all the lights went out. What couk.j' be a possible cause? [1]

{¢} Using two batteries, two bulbs, two switches and some wires, draw a circuit
diagram in the box below to show how Anthony could construct a circuit which:

+ allows & bulb to light up each time a switch is closed.
« allows one bulb to light up even though the other bulb has fused. [2]




and O

37, Zack st up an experiment in & dark reom, He placed four sheets of materials, A, B, Cas
shown In the tliagram below. He then placed 4 ball o fop of a wooden block between
material A and B. Tesrswitched o the torch and a clear dark shadow was cast on materisl

L. ook

torch

{a} Based on the above observation, Zack drew the following conclusions.

Put a tick (v) in the appropriate box to indicate if each conclusion is ‘True’, ‘False’

or ‘Not possible to tell'.

2]

Conclusicn

True

False

Not pbssib!e to
tell

‘Material A allows light o pass through

v

Material B allows light to'pass through

v

Material C allows light to pass through

Matefal D allows light to pass through

(b)  State how a shadow is formed.

|

10
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38, Jenny placed a beaker of ice cubes on a table in the science laboratory. She then recorded
the change in temperature of the ice cubes at an iilérval of 5 minutes.

Time (min) | Temperature (°C)

5 o
10 0
15- 0
20 1

25 : 8
30 21

(a) What process was taking place in the first 15 minutes of the experiment? i1l

{b) Why did the temperature increase during the last 15 minutes of the experiment? [1]

{c) Atwhich point of time did the ice cubes complétely ¢hange into ancther state?  [1]

11
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30, Joe} wound op 4 toy plane as shown balow,

proveller bt bung

He turmed the wéiier_sevehl rounds gtrj.d_reiéasg_d it. The toy plane moved forward.

{a) Fiiinthe boxes below to show the energy conversion. 13
sotentia — _ —

energyin ™| —

rubber band

He wound up the plane up and 'r_etea'séd"it_ﬂimo the air as shown below.

PP it -
-7 .
) b
.
N
'~
e o

‘Distance d refers to how far:the. toy plane travefied. He repeated the experiment by
increasing the number of turns. The table below shows the results of his experiment.

IS B firsttry | secondtry | thirdtry
number of turns 20 30 _ 40
{distance (d) 6m 10m |  15m

(b) Whatis the relationship batween the number of tums of the propelier and distance
o? {1]

{¢) State one change that can be mads to the rubber band so that toy plane can
travel further. Give a raason for your answer, [11

12
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40. Ethan wantéd to find out which rubber band, $ of T, ean ba stretched more easily. The
graph shows how the length of two rubbsr bands, 8 arid T, Increased when welghts were

hung an them,
A
’g 3
5
[=}]
&
=
723
1]
@
&
=
0 >

Mass (g)

(a)  Based on the graph, which rubber band, S or T, can be stretched . more easily?
Give a reason for your answer. 7 i1l

13
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The disgram shows aﬁﬁf&ﬁme jumping. He is altached to a long rubber tord as he
Jutnps off a bridge.

rubbér eord

Wheii e jumped off the bridge, he fell dovnwards into the air very quickly for a few
seconds. Suddenly, he felt a pull on his legs, and he was pulled up to mid-air. He then
went downwards again. This continued for a few times untilhe came to a stop.

(5) Why did Shawn fall downwards Iito the &iF Vefy quickly ohcs hé Jumped off the
bridge? [l

{c) Identify the force(s) acting on Shawn when he was pulled up and down a few
~ times before he came fo a stop at mid-air, 1l

(d) What is the properly of the rubber cord that enabled Shawn to be pulled up and
down? f1]

14



Question 40 contihuad

The diagram below shows two groups of chitdren playing tug-of-war, Each group needs
to get the ribbion oh the rops over to thelr side to I ordar fo win.

starting point

(e} Why is the ribbon still at the starting point even though both groups have been
pulling the rope for some time? (1]

ind of Booklet B

15
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CHOOL : HENRY PARK PRIMARY SCHOOL
LEVEL : PRIMARY 6
SUBJECT : SCIENCE
TERM 2024 WA2
Q1 Q2 Q3 Q4 Qs Q6 Q7 Q8 Q9 Q10
4 2 4 2 2 1 3 2 1 2
Q11 Q12 Q13 Q4 | Q15 | Q16 | Q17 | Q18 | 12 | Q20
3 2 1 2 3 3 1 2 2 3
Q21 Q22 Q23 Q24 | Q25 | Q26 | Q27 Q28
2 4 4 2 4 1 3 1
Q29) | a)Organ R: Lungs Organ S: Heart
b)At B. the blood is coming from the lungs and the heart so it has a
larger amount of oxygen. However at E, some of the oxygen in the blood
has already been used by Brain.
c)Absorb digested food into the bloodstream and finish the digestion of
food.
Q30) a) Oxygen.

b) Blood rich in carbon dioxide would be transported to the heart
which would then be transported to the lungs. The carbon dioxide
would be removed from the body when we exhale.

¢) When we exercise our cells need more energy so we need to take
in more oxygen and produce more carhon dioxide. Thus, more
energy is produced.

Q31) a) Flower Q: pollen grains are blown away easily by wind.

Flower R: polien grains will land more easily on stigma,

b) It has bright colours to attract more insects to pollinate flower P.

Pgl
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Q32) a) The seeds of fruit X will be eaten by the animal and will come out
as waste . However, the seed of fruit Y is thrown away after the
animal eats as it is too large to be swallowed.

b) To prevent overcrowding and reduce competition between the
parent and young plant for space, sunlight, water and minerals.

c)

Q33) a) The set-up containing the most amount of water will grow the
fastest.

b) So that only the amount of water in each set-up would affect the
growth of the plant and no other factors.

¢) To compare growth of piants in the three set-ups ensure that
nothing besides the amount of water will affect the growth of the
plant.

d) She must calculate difference in height of each plant.

e) Increase differences between amount of water given to three
plants.

Q34} a) Distance between the torch and water plant.

b) When the worms respire, they produce carbon dioxide. Since
there is more carbon dioxide present the plant takes in more
carbon dioxide and photosynthesis faster, producing, forming the
bubbles.

c) Water plant cannot photosynthesis
-Insufficient oxygen 2>worm dies

Q35) a) Colourless. Only pure water can evaporate,so the colour would
not be present in liquid X.

b) Metal. Metal is a better conductor of heat than plastic. So the
water vapour can lose heat and condense faster to form water
droplets.

Q36) | a)i), iii)

b)One of the bulbs fused, causing an open circuit. So electric current
cannot flow through.
c)

Pg 2
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Q37)

a) L )

Conclusion Trae | False | OUPOSIBets
Haterial & sliows lght to pass through v '
mstszws_amnghtmyasgm T
; !&aﬁﬁaﬂ:sﬂw&lbﬁlﬂn pass through -
} Matersi D aliows ight 1o pase throtsgh | . i

b)When light is blocked by an object a shadow is formed.

Q38)

a) Melting.

b} The ice cubes have already melted into water, so all of the heat
gained is to increase the temperature of the water.

¢} 20 min

Q39)

a)kinetic energy = kinetic energy

b)As the number of turns increases, the distance d increases.

c)Use a stiffer rubber band. More elastic potential energy stored in
rubber band will be converted into more kinetic energy for the plane
to fly further.

Q40)

a) Rubber band S. Rubber band S increased in length more than T
when the same mass was hung on it.

b) Gravitational force pulls him towards the centre of the earth.

c) Elastic spring force.

d) Elastic

e) The same amount of force is present pulling the rope on both
sides. So the rope would not move.

Pg3
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